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401 A& Bl 2 CHYI 300,000 0 300,000
L= 150,000
Al 150,000
01 A& HI 300,000 0 300,000
OO0l OotE SZEHIAFE  300,000,000& * 14 300,000
& 150,000
Al 150,000
Esti=&s X2 1,107,869 925,502 182,367
= 42,200
Al 1,065,669
reg 2tel 7,500 7,500 0
201 et2Ad| 6,500 6,500 0
01 A2 2t 2ldl 6,500 6,500 0
OANZEH=E=s ZHIY X 3,000,000 = 14! 3,000
ORrsSglEHs =2l 500,000& * 14 500
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2 23=X= M 230z
Zo0sEATY 2 SLH(2sL2E/280=)
Zsttl=gs N (etel: =3
224 ZH . S(E) - HRAY - BES sl Bl HlRE2
0 & 24
ORsSgd us UM HE 1,500,000& * 23] 3,000
202 (44| 1,000 1,000 0
01 =2 WA bl 1,000 1,000 0
ORsgNEHs SUHb
100,000& = 2% * 53| 1,000
Heszstasid 484,400 341,000 143,400
201 2ere | 5,900 6,000 £100
01 AtR2tel 1,400 1,000 400
O=2sto=« S8 M
100,000& = 143 1,400
02 2244 4,500 5,000 A500
Oss3¢% 4,500,000& » 14! 4,500
307 21zZtol ™ 458,500 330,000 128,500
04 QIRHHALE X 458,500 330,000 128,500
ORM42s ZE0==d 20,000,000& * 14 20,000
OFAHE Z2sl==d 10,000,000& * 1A 10,000
OJdelauiete ZHESKEH
20,000,000& * 14 20,000
OHM202 d=2AtMZBEH 8,000,000& = 14l 8,000
OHM13al eIsN=sd 10,000,000& = 14 10,000
OHM21al Al e+ 15,000,000& * 14 15,000
ORM23s HAHSAHIIAFT
2,000,000 » 14 2,000
OHM4sl &= Rk
5,000,000& = 14 5,000
OHMgzl & 280l =M 10,000,000& * 14 10,000
Ox=23 2& 8,000,000& * 14 8,000
OB EHSU=HAHAEIH
80,000,000& * 14 80,000
OHMl422] OHEAEXS 3,000,000& 14 3,000
S =¥ 10,000,000& * 14 10,000
ORmlsel &= = FOLC R
8,000,000& = 14l 8,000
OHMi2al ZE= Al &t 5,000,000& * 14 5,000
OO0tEHONA 4,500,000 14! 4,500
OJIEt Z3H0I =3 A} 25,000,000 * 14 25,000
Osa&Eis 5,000,000& = 14 5,000
ORM208 tHz==ststn=zd
15,000,000& = 14 15,000
OHS M A 5,000,000& = 14 5,000
OttCtoll= Al 80,000,000& * 14 80,000
OHN4zl Z2EAHLEA 100,000,000& * 1A 100,000
SREANH 10,000,000& = 14 10,000
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R EWES SN 28tz
Hal: PHUSEATY U S5 (SHUDY/25002)
ool 2sEES X (e @
- _ _ Muo
A= 2M -3 - SAEH) - MRAY - BES Ol &+ 9K Ofl At ot HwsZ
401 Al EBIL 2 OB 20,000 5,000 15,000
01 Al &bl 20,000 5,000 15,000
TR 24 20,000,008 * 14! 20,000
DIEZAZANRRE 3,780 3,780 0
201 Lur2 Y| 3,780 3,780 0
01 ALR eIt 3,780 3,780 0
ODIEZAINISRS| 3l BASTY
70,0002 * 9% « 63l 3,780
23 FI0EEE 24 5,000 5,000 0
301 B AE 5,000 5,000 0
10 #AFAIH A2 5,000 5,000 0
OUMEHZEE 24 10,0008 * 202 2,000
OLRAIF &S 10,0002 * 109 1,000
OBEAMNS HIILA 50,0008 * 20% 1,000
OURATELIR/ B2 Y
10,0002 * 109 1,000
MSISH XA 29 162,000 162,000 0
307 212H0| & 162,000 162,000 0
03 AFEI BRI R Z 2 162,000 162,000 0
OAMBISHHZES 162,000,000 * 14} 162,000
220122 222y 138,000 60,000 78,000
201 YEr2gy| 3,000 2,000 1,000
02 T2 3,000 2,000 1,000
OFIIQFH AL 1,000,0002 * 14! 1,000
OS 482 500,008 * 23| 1,000
SNEETES 100,0002! * 103 1,000
307 212H0| & 60,000 58,000 2,000
04 QRIS AL 10,000 8,000 2,000
OYS0IE I HFA 10,000,002 * 14} 10,000
05 BI2reIEr 2 50,000 50,000 0
OUS0I=Z PASHASS
50,000,008 * 14! 50,000
401 Al EHIL 2O HI 75,000 0 75,000
01 Al&H] 75,000 0 75,000
OUS0I=Z 2B4BA 75,000,000 * 14 75,000
2HLHUEEH 95,000 95,000 0
= 35,000
Al 60,000
307 212H0| | 95,000 95,000 0
= 35,000
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A= 2AZ2=X= SA 280z
N 20l AEd 2 SH(23L2E/2305)
=S N (&9 H =
_ _ _ AT
=-2M - 33 - HAFAH) - NEAY - BES Oll AF O Blus
60,000
04 QU2HSHAE & 95,000 95,000 0
OZadlis=d 95,000,000 * 14 95,000
= 35,000
Al 60,000
ZEGAOICIHEH=Z2S 194,189 177,622 16,567
307 212+0l & 184,189 0 184,189
05 IZtAE 3 184,189 0 184,189
O sganitiofdy 24
184,189,000& * 14| 184,189
401 Al HIRL S THHI 10,000 10,000 0
01 Al€H 10,000 10,000 0
OAle 2 & 2t 10,000,000& = 14 10,000
R0l 23S 14,400 0 14,400
= 7,200
Al 7,200
307 g12+01 & 14,400 0 14,400
= 7,200
Al 7,200
04 QI2FHALE & 14,400 0 14,400
OXopts 2sts(=2d)
14,400,000& * 14 14,400
< 7,200
Al 7,200
Zol=2sSAd 223l 3,600 3,600 0
202 O4H| 3,600 3,600 0
01 =LHOdHI 3,600 3,600 0
O=2sti=2sNA 233
3,600,000 = 14 3,600
ANEgdzse 24 2,038,472 1,930,005 108,467
ANgtlsd 29 243 2,038,472 1,930,005 108,467
101 1 244] 2,708 1,168 1,540
04 JI2ZtM22NHSE+ 2,708 1,168 1,540
OddF2l 3 dd =200 oAy
37,6008 » 6 =123 2,708
201 L2 84,500 83,500 1,000
03 ALZ S H 84,500 83,500 1,000
Ogde lldxs RUEXR 4,000
o RUAEMH 3,000,000 = 14 3,000
ooy A AZ AR 1,000,000& * 124 1,000
OotIt= 893l 75,500
cRUAME M= 7,000,000 * 102 70,000
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A= 2FEES=EA= A 230z
HH: Zo0lasEAxd & SH (L2222 /280=)
Sel Algdse 22 (el &)
AT RN FH-SAEH) - NRAY - B 01 &t o8 Bl HlRE2
0 & 24
oAt 100,000& = 9 » 128 10,800
ool 30,000& * 37 » 128 13,320
o2z 50,000& * 2 * 12& 1,200
OARdHE =8 55,000
SPNEPN; 1,000,000& 4% 4,000
orXHE 500,000& = 30 15,000
oA 300,000& = 1209 36,000
@)= PISEN, 30,000
oA E2 5,000,000& = 29H 10,000
oA A= 3,000,000& = 3% 9,000
oA B2 2,000,000& » 3% 6,000
ogHA C= 1,000,000& * 5H 5,000
SELIISEIVER L=
1,448,120,000& * 4.5% 65, 166
OAURHALZRYS
1,448,120,000& » 2.82% 40,837
OFIIQYSSIMLERES
40,836,984% * 6.55% 2,675
OULUEEEMNHETRLE S
1,448,120,000& = 1.4% 20,274
Ot Ml 28 = 1,448,120,000& * 1% 14,482
O&oli Xl =l 100,000& * 1098 =* 43 4,000
OANgol=t 2er2FHl 50,000,000& * 14 50,000
O I&EUMAE &Il 2,000,000& 14 2,000
OAlg0li=E ol 20,000,000& 14 20,000
OMRHANE AIEHRRE =
4,000,000& = 14l 4,000
Oll=tEddE 4,000,000& = 14l 4,000
Oll=t=2gd+d 1,000,000& * 14 1,000
Otlsx A== M= 500,000& = 70H 35,000
OHA g§&Z 115,000,000& = 14 115,000
405 XHaHF SH 8,500 33,000 A24,500
01 At =SZFH=HI 8,500 33,000 A24,500
oI+ 8,500
o2y AZ 2 I
4,000,000& = 14l 4,000
o= A 4,500,000& = 14 4,500
Fst=20F StEAN &= 538,565 642,823 A 104,258
= 150,000
Al 388,565
Zot=20F ot=A0 =#E 28| 6,100 6,100 0
202 (44l 6,100 6,100 0
01 SLHA bl 6,100 6,100 0
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A= 2AZ2=X= SA  2s0sn
JH: 20l AEd 2 SH(E3L2E/2302)
2320F ot/ =E EE =L
- _ _ Muo
=-2M - 33 - HAFAH) - NEAY - BES Off & 2K Ol Ak O Blus
O23%t=0F ot=d0=E 233l
6,100,000& = 14 6,100
2g =98 2= 20,738 60,308 39,570
101 Q1A H| 15,738 15,308 430
04 JIZtM22 NS+ 15,738 15,308 430
OXSxIE 22l 282y 15,738
eJllz2a 44,2008 « 18 = 230 10,166
oxzxg 44,2003 * 1 = 46 2,034
oAXt=E 44,2008 » 18 » 11& 487
o A2t 8,200% = BAIZH » 46& 3,051
401 Al HIZ S0 5,000 45,000 240,000
01 Al2Hl 5,000 45,000 40,000
O=Jtold 2Jl & 5 Ht2D|
5,000,000 = 14 5,000
222 Jel 243t 20,000 16,000 4,000
307 212tol & 20,000 16,000 4,000
04 212t ALE X 20,000 16,000 4,000
O=23t2 Hel At 20,000,000& * 14| 20,000
dXJg= 2c 30,000 50,000 A20,000
401 Al HIZ S0 30,000 50,000 A20,000
01 Al2Hl 30,000 50,000 220,000
OdHIIdE |l 22l 30,000,000 » 14 30,000
HI 2=t 2EH X HL A 300,000 0 300,000
s 150,000
Al 150,000
207 AN HI 300,000 0 300,000
s 150,000
Al 150,000
01 A7 EYl 300,000 0 300,000
OANLI =AM = 300,000,000 * 14 300,000
= 150,000
Al 150,000
ol - GlHEE J833xd 25,740 80,000 Ab4,260
401 Al HIR 20| 25,740 80,000 A54,260
01 Al 25,740 80,000 N54,260
OsSNEdIES &2
80,000& * 2,145m" = 30% * 50% 25,740
H=zxxozE 2el2d 35,987 24,840 11,147
101 el 4l 13,387 0 13,387
04 JIZtHMZ22HSE+ 13,387 0 13,387
OLsu=axoE 2el2d 2RY 13,387
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N2 pEEs=X3 R e

I 2oz A=d £ S4(2sL2/2s0=)

CH9l: 23120 SIESI0 HE (e e
A 2N M- HA(SAH) - MRAIY - BES O AFH dd T Hos
== ° T = o7l (= ° TNs a3 &= 04| AFOH U=sa

oJlE=z 37,600& * 1% = 230 8,648
oFFH 37,6003 = 1H = 46! 1,730
SR ESS 37,6008 * 19 = 11 414
o A2t =Y 7,050& * 8AIZt * 46X 2,595
201 LB2IH| 22,600 24,840 A2,240
01 AtR2tel bl 5,000 7,000 A2,000
OJIEt 2gHl 3,000,000& * 14 3,000
OMREE 7Y 2,000,000& * 14 2,000
02 3324l 17,600 17,840 A 240
OHMI|ItE B AN 150,000& * 12& 1,800
OstdNEREZ 100,000& * 13 100
O&IZ 600,000& * 12& 7,200
Oudt=EMEZ 500,000 * 14 500
ORolFHAIEZ 300,000& * 12& 3,600
Oelgy 3l ¥ Sz 200,000& * 12& 2,400
(OINE=F-1:=1E=IN]:]! 2,000,000& * 14 2,000
28 I gd=a HE 100,000 200,000 A 100,000
401 AlEHIZL 2 0HYI 100,000 200,000 A 100,000
01 A& HI 100,000 200,000 A100,000
OX Mga HEg('11d Al 02 )
100,000,000& * 14 100,000
S 2EBE(SSLHZ/2S ) 2,808,134 3,880,205 21,072,071
2 659,610
J| 145,402
< 311,213
Al 1,691,909
=3 25 - 2% - FH| 2,185,152 3,128,533 A943,381
2 659,610
| 145,402
= 172,313
Al 1,207,827
Zo M B3 .84 UMY 233 b| 17,900 4,900 13,000
201 L Bt2IH| 13,000 0 13,000
02 2=2=2gHl 13,000 0 13,000
OXNEZSM 3322 L Al
13,000,000& * 14 13,000
202 44| 4,900 4,900 0
01 =LHO B 4,900 4,900 0
O23M 25 .24 .84 298|
4,900,000& » 14] 4,900
= AALRL AFE X 2el 15,000 50,000 235,000
301 2 AF 15,000 20,000 25,000
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A 2AFEI=ERXN= A 2F0=
M 25 dEBS (2L 2Z/25HM)
el 2ol 25 - 24 - i) (e e
A 2N M- HA(SAH) - MRAIY - BES O AFH dd T Hos
= (=) iy o L) ° T NS oS =5 &= 04| AFOH U=sa
12 J|EIE2 A3 15,000 20,000 25,000
OZLHALK AR XL D13 & 24
15,000,000& * 14 15,000
2o & =8 S#ZE| 25,738 25,308 430
101 2124yl 25,738 25,308 430
04 JI2HHZ22NSES 25,738 25,308 430
Odl&Es MItYH 22l o2 15,738
=JlZ23 44,2003 = 19 * 230 10, 166
oxgd 44,200 * 19 = 46 2,034
oAXtg 44,200 *» 1989 = 11 487
o A2t 8,290& * 8AIZt * 46 3,051
O3 3 &l 10,000,000 * 14 10,000
232 29 20,738 15,308 5,430
101 2124 d| 15,738 15,308 430
04 J|I2HHZ22NSES 15,738 15,308 430
Oogdga o= 15,738
=JlZ2a 44,2003 + 1% * 230 10, 166
oxgd 44,200 + 19 = 46 2,034
oAXtg 44,2003 + 19 * 11 487
oAZtl=Y 8,290 * 13 * BAIZE * 46€! 3,051
207 A IHEH| 5,000 0 5,000
01 232 E 9| 5,000 0 5,000
US YHB AHYY B A28
5,000,000& * 14 5,000
NEEZM B+ & FX22] 100,000 100,000 0
401 Al HIZ 2] 100,000 100,000 0
01 Al &l 100,000 100,000 0
OXNEFEZM B2+ & X 2L 100,000
o XNEZ23M B 90,000,000 * 14 90,000
o Z3HM ot J| 10,000,000& = 14 10,000
QP BOIEE U FEIFHIAIY 500,000 0 500,000
= 350,000
& 75,000
Al 75,000
401 Al HIZ 2] 500,000 0 500,000
= 350,000
= 75,000
Al 75,000
01 Al &I 496,400 0 496,400
OZZ3A & =HEHHISA
496,400,000& * 14 496,400
= 347,480
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A 2AFEI=ERXN= A 2F0=

M 25 dEBS (2L 2Z/25HM)

“e: 2 B - B+ - &34 (Ste: & &)
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= Oﬂj\}OH In_-“‘j_'n:_ H|j§3k
= iy o L) ° T NS oS =5 &= 04| AFOH U=sa

= 74,460
Al 74,460
03 AI& 201l 3,600 0 3,600
OAl &= 0HH] 3,600,000 * 14 3,600
= 2,520
& 540
Al 540
NE23HH 222 18,500 24,000 25,500
201 L2 IH| 500 6,000 25,500
01 At 2teltl 500 6,000 A5,500
OZEN 2X Xtz 500,000 * 14] 500
301 LEE A= 5,000 5,000 0
12 J|EIE &3 5,000 5,000 0
ORSFMSSEHIIAJAA 2L
5,000,000& » 14] 5,000
307 G120 & 13,000 13,000 0
02 QA AE X 13,000 13,000 0
OZEA QI 22|29 13,000,0003 = 14] 13,000
deel2du:R F=HAE| 30,000 0 30,000
= 21,000
T 4,500
Al 4,500
401 AlEHIZL 2 0HYI 30,000 0 30,000
= 21,000
& 4,500
Al 4,500
01 Al &l 30,000 0 30,000
O==2% L FHEFY| 30,000,000& * 14 30,000
= 21,000
& 4,500
Al 4,500
gse 22 =83 50,000 0 50,000
= 35,000
& 7,500
Al 7,500
401 AlEBIZ 20HYI 50,000 0 50,000
= 35,000
& 7,500
Al 7,500
01 Al & HI 50,000 0 50,000
Ox==283% ¥ otWEE X 50,000,000 * 14 50,000
= 35,000
& 7,500
Al 7,500
SHAuE B3| 40,000 0 40,000
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e
0x
Jo

20
B
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=z HnH

28,000
6,000
6,000

401 AIEHIZ 2 THYI

= N W

40,000
28,000
6,000
6,000

40,000

01 A& H
OHdWE eHHE HH|

(D] LN

40,000,000 * 14!

= N W

40,000

40,000
28,000
6,000
6,000

40,000

o
1]l
o
2
mg
I
<
0
o

= N W

10,000
7,000
1,500
1,500

10,000

401 Al EHIZ 2O YI

= HnH

10,000
7,000
1,500
1,500

10,000

01 Al Hl

oljzgod ettt Zdl 10,000,000 * 14

= HnH

10,000

10,000
7,000
1,500
1,500

10,000

30)
M
o
A
E
o
=

=z HnH

100,000
70,000
15,000
15,000

100,000

401 A& HI Y 201

= H W

100,000
70,000
15,000
15,000

100,000

MO Mx

03 Al€ 2CHH]
OAZ20UbI

99,100,000& = 14!

= N W

900,000 * 14!

= H W

99,100

99,100
69,370
14,865
14,865

900

900
630
135
135

99,100

900

30]
HH
]
1o
Y
0x
>
sl
ol

= N W

5,000
3,500
750
750

5,000
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folr og
HT
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W

2
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=
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x

=2
M
12

401 AlEHIL 2 HH]

= H W

5,000
3,500
750
750

01 Al Hl

OQES 20N AAIZ2

5,000,000& * 14|

= HnH

5,000
5,000

3,500
750
750

5,000

= HnH

17,857
12,500
2,679
2,678

25,000

AT,143

307 2I2+0 &

= H i

17,857
12,500
2,679
2,678

25,000

AT,143

17.857,000% * 14!

=i

17,857

17,857
12,500
2,679
2,678

25,000

AT,143

=i

30,000
15,000
7,500
7,500

30,000

401 AlEHIL 2 HH]

= H W

30,000
15,000
7,500
7,500

30,000

01 Al H]

OZHHETIAIAE SH A

30,000,000& * 14!

=i

30,000

30,000
15,000
7,500
7,500

30,000

= H W

220,000
110,000
33,000
77,000

140,000

80,000

= H W

220,000
110,000
33,000
77,000

140,000

80,000

ol M2 ==

180,000,000 * 14

220,000

180,000

140,000

80,000
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OHSA HSE JI2t=2= 40,000,000& * 14

=z HnH

=M H

90,000
27,000
63,000
40,000

20,000
6,000
14,000

>
o
J
10
0]
0
A0
02

H

7,610
7,610

7,401

209

w
=)
1o
e
HT
0z
oy

H

7,610
7,610

7,401

209

3
0B
ry
4o
0
10
H
0
oy

O
00 e
1o

0]
[0
ro
rY
=

7,610,000& * 14

H

7,610
7,610
7,610

7,401

209

of¥
)
J
P
MO
[
=
0z
=
=
>
0z
1J
B

=N Y

15,000
10,500
900
3,600

14,286

714

401 AIEHIZL S THYI

= mn X

15,000
10,500
900
3,600

14,286

714

01 Al£Hl

ORBA SRNAEH SHAABDS
15,000,008 * 14!

=N X

15,000

15,000
10,500
900
3,600

14,286

714

= mn X

216,167
129,700
17,292
69,175

116,000

100, 167

101 1244l

= mn X

216,167
129,700
17,292
69,175

116,000

100, 167

S M2/ ZAI(II2PHI2 2 XE) 81 X
216,167,000& * 14

= mn X

216,167

216,167
129,700
17,292
69,175

116,000

100, 167

=M X

8,662
5,202

692
2,768

7,840

822

101 el Hl

8,662

7,840

822
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A= A== A 2F0=

M 25 dEBS (2L 2Z/25HM)

&2l 23t Es - B - | e
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= 04|/\}0H In_-lln“j_“:_ H|j§3k
= iy o L) : - = oS =5 &= 04| AFOH U=sa

| 5,202
& 692
Al 2,768
402t 2 REE 8,662 7,840 822
OZMsE2R2 222 A
8,662,000 » 14] 8,662
J| 5,202
= 692
Al 2,768
EE F=HAIZ ZEAY 179,200 783,312 604,112
401 Al HIZ 2] 179,200 783,312 604,112
01 Al &l 179,200 773,312 Ab94,112
ORSHAZ 2|22 ('11E ABIDIRY)
179,200,000& * 14 179,200
NeEZs M 23| 197,780 790,000 A592,220
401 AlEHIZL 2 0HYI 197,780 0 197,780
01 Al &I 197,180 0 197,180
OsEgAME4("113 AMBIOIRY)
50,000,000& * 14 50,000
OLEsAMa E4('"11d AlHIDIRE)
20,000,000& * 14 20,000
OFSIH=sE("11E AHIOIRE)
127,180,000& * 14 127,180
03 A& 201 600 0 600
OXNL2MES("11E ABI0IRE)
600,000& * 14] 600
TXE 23N 34| 360,000 0 360,000
402 Q12+ X201 & 360,000 0 360,000
01 eIt E22 X 360,000 0 360,000
OSAHAI S FHAUI('11E AUIDIRE)
120,000,000& * 14 120,000
O SAILAI JHESAH('11E AlHIDIRE)
120,000,000& * 14 120,000
OFSAIEE AEIAH('11E AHI0IRE)
120,000,000& * 14 120,000
SFEZSL= 622,982 751,672 A 128,690
= 138,900
Al 484,082
SEZSIH=AME 2IEHI 2,400 2,400 0
202 44| 2,400 2,400 0
01 2LHA HI 2,400 2,400 0
OSEZStU=AMY 253 |
2,400,000& * 14 2,400
SEZSRL B2 100,000 100,000 0
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A= 2FEES=EA= A 230z
HH: 23N FEEE (2L 2Z/25HM)
el SE2SE= (etel: =3
- _ = ME
AZ SN FHH . SHR(3) - MBAY - BES Ofl &F o Ol AF o8 HluS2
401 A& HIZ 2 CHYI 100,000 100,000 0
01 A& H] 100,000 100,000 0
OZERsRA B2 100,000,000& * 14 100,000
LM 853 N 178,800 153,600 25,200
< 89,400
Al 89,400
301 et ez 178,800 153,600 25,200
= 89,400
Al 89,400
12 JIEt2 4= 178,800 153,600 25,200
ORE2MEs= XA 178,800,000& * 14 178,800
S 89,400
Al 89,400
SEHEIM(SHEA) S 19,000 14,500 4,500
< 9,500
Al 9,500
307 212+01 o 19,000 14,500 4,500
= 9,500
Al 9,500
02 It &8 X 19,000 14,500 4,500
ORI (SHEA)ESKIR
19,000,000& = 14 19,000
< 9,500
Al 9,500
LHEIM &8s 25 NE 158,000 135,500 22,500
307 2I2toI & 158,000 135,500 22,500
02 It A2 X 75,000 71,500 3,500
Od=20ts 8=2€J dsX&
5,000,000& * 14! 5,000
OYEsY &8s 54 K&
20,000,000& =+ 14 20,000
OXgs2t &8s =54 K&
50,000,000& = 14 50,000
04 BIZHHALE X 83,000 64,000 19,000
Od=s2dUzl FIXIAL
20,000,000& = 14l 20,000
O = stHs=A=H KA
30,000,000& = 14! 30,000
OZAUZEEM K2 A
30,000,000& * 14 30,000
OZ2& LI SALXIZE  3,000,000& * 14 3,000
LEHLNEZE XN 60,000 60,000 0
= 30,000
Al 30,000
307 2I2toI ™ 60,000 60,000 0
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A 2AFEI=ERXN= M 230z
HE: 25 ANSE(LILTBB/25HT)
ol FEZSIE= (9 ®2
2. 2N HY O (BH) - MBAY - BAS 0f b S H RS2
0f & o8
= 30,000
Al 30,000
02 SIZHHAE X 60,000 60,000 0
OZEHLMEZS XA 60,000,000& * 14 60,000
= 30,000
Al 30,000
LEMELEEES 20,000 20,000 0
& 10,000
Al 10,000
307 2I2tol A 20,000 20,000 0
= 10,000
Al 10,000
04 SIZ2HHALE = 20,000 20,000 0
OZE AtE2IE2&32 XA  20,000,000& » 14 20,000
& 10,000
Al 10,000
Hes I ME2 29 20,000 0 20,000
307 2I2tol A 20,000 0 20,000
02 QIRtF A8 X 20,000 0 20,000
OFESUEME 29 20,000,000& * 14 20,000
gz & M 22|29 64,782 65,672 A 890
101 21244l 14,492 14,072 420
04 J12HH 22 NS ES 14,492 14,072 420
OdASIIgS 2 28 =2y 13,387
=Jlaz 37,6002 * 1% = 230 8,648
oxgd 37,6003 * 1H = 46 1,730
ocHXtY 37,600& * 1% * 11 414
oAt 7,050 * 8AIZ2+ » 46 2,595
Odldsid&s Jlga =8 Jdl =R
44,2008 = 259 1,105
201 Ler2gd| 40,290 41,600 21,310
01 AtR2tel bl 11,000 11,100 A 100
Os2= H&E 9,000
o EA =MD 2,000,000 » 14 2,000
ocdASIE& 2,000,000& * 14 2,000
SR EN 1,000,000 * 14 1,000
ooldoltds 4,000,000& * 14 4,000
OASR2telHl 2,000,000& * 14 2,000
02 2=22gHl 29,290 30,500 A1,210
OXMIlz 15,600
oAMNFIIEE W=0| deF 2
300,000& * 12& 3,600
oSHMR=MI| M==3l2  300,000& * 12& 3,600
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= AH O
N = 0l &F At A ANl A
Al ABSF=X=2 2A HESEAEL
A SIS (2L2H/NE)
Ce: MEH=SSS (e
- _ _ bSRE Y=
A= .25 - F3H .S () - MBAIY - BES 0] AFCH @;OH Hns
HN=HAE 0 8,464,767 8,896,608 N431,841
Dl 381,078
< 80,081
Al 8,003,608
HEIE(SI}LZZ/HR) 7,431,497 7,970,791 N\539,294
Dl 181,206
= 63.881
Al 7,186,410
HdEMEEY 5,126,978 4,795,513 331,465
e X 533,293 520,807 12,486
301 Lt ALZ 106,593 103,607 2,986
12 J|EtB A2 106,593 103,607 2,986
OXN=3 elAHH| 92,434
o AR =2E 59,318,000 » 1H 59,318
odREX 33,116,0002 » 1H 33,116
oxsrg=3 9,666
o=0HZ2x= 92,434,000& * 4.5% 4,160
cAHUSBES 92,434,000 * 2.82% 2,607
oMIIQALEZ 2,607,0009 * 6.55% 171
cEIBHS 92,434,000 * 1.95% 1,803
ojIBE S 92,434,000 * 1% 925
OExNEZ 4,493,000& » 14 4,493
307 212t0 & 426,700 397,200 29,500
02 OI2tFAMNE X 412,400 382,900 29,500
OFAUX X HHX 252,000,000 * 14l 252,000
ONEYeEsH| 450,0008 * 122 5,400
Oxd4=S458% 240221  25,000,0008 * 13 25,000
OR824 StNE R
60,000,000 » 14! 60,000
OWXI=Ee2432d 60,000,000 » 14! 60,000
O=AMEHE 29 10,000,000 * 14! 10,000
03 AISIEtHIE = 14,300 14,300 0
OAZSH X 14,300,000 * 14! 14,300
ERH2Y 2,043,864 1,576,293 467,571
101 @144l 13,062 12,341 721
04 JIZHH2Z2NHEES 13,062 12,341 721
Ost=Azte|ol 12,687
ollEa 44 2009 » 18 » 230 10, 166
oFELY 44 2009 * 18 » 46 2,034
SR PN 44,2003 + 19 * 11 487
oxnsrd=2 375

_40_




42 BBES=X3 2AHSHAED
FH: HMSIE(2SL22/M=)
oo HEHSSA CLELE
2. 2N HY O (BH) - MBAY - BAS 0f b S H RS2
0f & o8
clE2ER 12,687,000& * 1.95% 243
oMUMEEZ 12,687,000 * 1% 127
202 Odl 11,832 15,004 A3, 172
01 =LHOI B 11,832 15,004 A3, 172
OO0 &I AN 11,832,000& * 14 11,832
301 LEEAZ 1,758,970 1,513,948 245,022
Moz - 2s2sS243 1,758,970 1,513,948 245,022
o712 =9 891,000
o3 40,000,000& » 1H 40,000
cEdolH 37,000,000& * 1H 37,000
o MEEYoIH 28,000,000& » 1H 28,000
ocEgus 39,000,000& * 49 156,000
oA 35,000,000& * 649 210,000
SE=Faks 30,000,000 * 6% 180,000
Sl=Fabs 25,000,000& * 6Y 150,000
S=FaEe 15,000,000& » 64 90,000
OA&xY 295,600
o= =H| 33,600,000& * 14 33,600
ocLAZ 700,000& = 30Y = 23| 42,000
osel=2(53HYE) 10,000,000& * 223 220,000
OAxERES 92,430
oAz = 891,000,000& = 4.5% 40,095
ocHdYEER 891,000,000& * 2.82% 25,127
cHURABERE 25,127,000& * 6.55% 1,646
cEBER 897,000,000& * 1.95% 17,492
oMTHEEZE 807,000,000& * 1% 8,070
@) ESE == 53,000,000& * 14 53,000
O8 244l 203,940
oc=d 23| 600,000& * 12& 7,200
oXMXIEZ&(SH,otH) 24,000,000& * 14 24,000
olfsl E&H| 136,740,000& * 14 136,740
o R2AXZHI 12,000,000 * 14 12,000
c=2dE3EH| 6,000,000& * 14 6,000
oIl =l 300,000& * 30 = 23| 18,000
ORH0IE= 30,000,000& * 14 30,000
Og=423 124,000
=g Al 90,000,000 » 14 90,000
o 2HAH| 18,000,000 * 14 18,000
o 23l 2,400,000& * 14 2,400
o223 (MIIRIS) 800,000& » 12& 9,600
o EZdFH| 1,000,000& * 23| 2,000
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A 2AFEI=ERXN= A MsEAEN
I WSANE(2}L22/HF)
HeHSSA CERE
SN - B E9(B1) - MTAY - BAS b HInE
ol &t o
oME=zzE 1,000,000& * 23| 2,000
O4alHE 3| 30,000,000& * 14 30,000
Oget23d| 25,000,000& * 14 25,000
OuAMdgelIEsE2=2g| 14,000
o UEEESHE 1,250,000& * 43| 5,000
oMZI 22 1,500,000& * 63l 9,000
307 S12H0| & 50,000 30,000 20,000
04 QULHAIE X 50,000 30,000 20,000
OUAMEel D #AI2EHl 30,000,000 * 13 30,000
ONelols+xE 249l 20,000,000& * 14 20,000
405 KHaHFE SH| 210,000 5,000 205,000
01 ML ESHS 210,000 5,000 205,000
OXtar FHSH| 210,000
oA Pl 200,000,000& = 1CH 200,000
SPIPAD\ A=Y 10,000,000 * 14 10,000
FSMNRERY 528,883 565,352 A36,469
301 BB A= 521,883 515,352 6,531
Mot -2 = 521,883 515,352 6,531
Osa% =0¢0 339,000
SPNEPN; 40,000,000& = 1 40,000
ocEgd= 45,000,000& * 1H 45,000
oA 38,000,000& * 59Y 190,000
oB= M 32,000,000& * 299 64,000
oLxEs=+g 40,000
o AV AIZ 8,000,000 = 14] 8,000
ocEgEIXAF 6,000,000 * 14 6,000
o=JIE =Y 6,000,000& * 14 6,000
oY 15,000,000& * 14| 15,000
oY 5,000,000 * 14 5,000
O==t| 5,500,000& = 14] 5,500
OAERE3 35,443
oxbdAZI R 339,000,000& * 4.5% 15,255
cHUBER 339,000,000& * 2.82% 9,560
ocH}IRABHEZ 9,560,000& * 6.55% 627
clEEER= 339,000,000 * 1.95% 6,611
oXMIHEE = 339,000,000& * 1% 3,390
OEA=RYZ 5,000,000 » 4% 20,000
Og 224l 40,140
c8IXte | Xl 200,000& * 12& 2,400
SFSPNR=T=1:] 13,000,000 * 14 13,000
oz &dl 13,000,000& = 14 13,000
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St~ PN = 3,240,000& * 14 3,240
CEHES 3,000,000 * 14 3,000

o Il =] 5,500,000& * 14! 5,500
Og=sazdg 39,800
oz A 27,000,000 * 14 27,000

o ZHALH] 5,400,000& * 14| 5,400

o 2dH| 150,000& = 128 1,800
o332 300,000& = 12& 3,600
oI &I 1,000,000& * 14 1,000
ocHEES 1,000,000& * 14 1,000
OaZ 82l 2,000,000& * 14! 2,000
405 KtatE S| 7,000
01 AL =S F 7,000
OJIXH & 2 7,000,000 * 14 7,000
RERRY 317,319
301 et as 310,319
M=t -2 = 310,319
ORER =( 180,000
SPNE=N; 40,000,000& » 1H 40,000
ocSgus 45,000,000& * 1 45,000
cASd 38,000,000& » 1 38,000
oM 32,000,000& = 1¥ 32,000
ol 25,000,000& » 19 25,000
Ox&=+4 36,500
o bt Al 12,000,000& = 14| 12,000
oSHRMS 2,000,000& * 14! 2,000
oIJHESE 10,000,000& = 14 10,000
oczdsd 8,000,000& * 14! 8,000
o= 4,500,000& * 14! 4,500
O==l 5,000,000 * 14! 5,000
OAERE= 18,819
o=0lza 180,000,000& * 4.5% 8,100
ocdAdLEE 180,000,000& * 2.82% 5,076
ocWIRYLEE 5,076,000& * 6.55% 333
clEEEE 180,000,000& * 1.95% 3,510
oMIEE = 180,000,000& * 1% 1,800

(@) ESE == 5,000,000&  3H 15,000
Og=24gt 26,800
ocsH2dH 2,000,000 * 14 2,000
oM X E& | 5,000,000 * 14! 5,000
o3 =& 9,000,000& * 14l 9,000
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BB =T 2 SN HSHAED
L HSTE(2L2B/HS)
S PN
o 5. ciol(s ” o FSJE
N-E3H-S2(SAH) - MRAY - BdS Oll AF O
o= A% 2| 1,800,008 * 14! 1,800
c2HBE 7Y 5,000,008 * 14! 5,000
ST 3,000,0008 * 14! 3,000
S -FIEVL 1,000,008 * 14! 1,000
ozL2Y 27,200
oZaltl 15,000,0008 * 14! 15,000
o2tAlg| 3,000,0008 * 14! 3,000
o2l 1,500,008 * 14! 1,500
S =L 2,100,0008 * 14! 2,100
cZ223 300,0008 * 122 3,600
o & F| 1,000,002 * 14! 1,000
oMESE 1,000,008 * 14! 1,000
Oaleig 3lH) 1,000,008 * 14! 1,000
405 Xt &HF S HI 7,000
01 KA USEHSY 7,000
OINRMY 25 o 7,000,000 * 14 7,000
SINEEY 379,806
301 LB AD 372,806
1oz - 2SRS243 372,806
oYas 2o 199,000
oXI S Xt 40,000,008 * 1% 40,000
oszH4 45,000,0008 * 1% 45,000
SYERES 38,000,0008 * 3% 114,000
OAz4g 42,900
cUBTAZ 12,000,0008 * 14! 12,000
csgmAZ 4,500,008 * 14! 4,500
oRNUESE 12,000,0008 * 14! 12,000
S EE 12,000,0008 * 14! 12,000
oXEag 2,400,0008 * 14! 2,400
SEE-T == 20,806
o=RN3E 199,000,00021 * 4.5% 8,955
cALPHE 199,000,000 * 2.82% 5,612
oIQULER 5,612,0002 * 6.55% 368
cngose 199,000,000 * 1.95% 3,881
oM EEE 199,000,00021 * 1% 1,990
SEET] 5,000,008 * 14! 5,000
OsIRR3 5,000,008 * 3¢ 15,000
og=gl 32,500
SEEEET 2,000,0008 * 14! 2,000
BT 10,000,0008 * 14! 10,000
SLESST 10,000,0008 * 14! 10,000




22 23=2X =2 M MsEAEY
CAHRIE (2L 2E/HR)
SENELY EER-E
SN EE O () - MRAY - BAS Ofl A o4 gggf; HRS2

o 2 AX| 2| 1,500,000& * 14/ 1,500

oZHEEHI 5,000,000 * 14! 5,000

o II| = H] 3,000,000& * 14 3,000

o &H| S Xl 1,000,000& * 14 1,000

Og=ied 26,600

oz Al 15,000,000& * 14 15,000

o 2tAlH| 3,000,000& = 14 3,000

o 2% 1,500,000& = {14! 1,500

o™ S H 2,100,000& * 14 2,100

os53R=2 3,000,000& * 14! 3,000

o2& 1,000,000& * 14! 1,000

ocMEEF 1,000,000& = 14 1,000

O2sA4 Uz 30,000,000 * 14! 30,000

OaHE 3| 1,000,000& * 14 1,000
405 XH&HFE S HI 7,000 5,000 2,000
01 MY Z2EFH S| 7,000 5,000 2,000

OJIXM ¥ 2s&b6l 2 7,000,000 * 14 7,000
HOHOIANEERY 151,899 116,135 35,764
301 Yt A2 144,899 111,135 33,764
MU= - 2SESEAS 144,899 111,135 33,764

O&EOMeIAZERE 20 83,000

oS0l AHH| 45,000,000& * 1H 45,000

oA % 38,000,000& * 1 38,000

oOx&sxY 17,000

oAbt AZ 4,500,000& * 14 4,500

oEYHIAMB 1,700,000& * 14! 1,700

o IJIHELE 6,000,000 * 14 6,000

oZFEHAE 4,800,000 * 14! 4,800

O==H| 2,300,000& * 14 2,300

OLERE= 8,679

o013 & 83,000,000& * 4.5% 3,735

ocHUBEE 83,000,000& * 2.82% 2,341

oI QABEH= 2,341,000& * 6.55% 154

ocllEEE= 83,000,000& * 1.95% 1,619

oNMIEEE 83,000,000& * 1% 830

Og g2 3,000,000& * 2H 6,000

Ogag9H| 16,720

oZHIYHI 2,000,000& = 14 2,000

oM XIZ&H| 4,000,000 * 14 4,000

o3 &&HI 5,000,000& * 14! 5,000

o 2 AXIEH| 720,000& * 14 720
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2es2x = SA ASEAED
LSS (2 UBR/HR)
HeHssl
o 5 e = o ]Sl
NS c2A(3H) - MRAY - BHES Oll AF O
cEHU2ETY 2,800,0002 * 14! 2,800
o Tl =H| 1,200,00080 * 14! 1,200
S ®HIS A 1,000,0002! * 14! 1,000
OgzL29Y 10,200
oAl 6,000,0002 * 14! 6,000
o 2kAlH| 1,200,00080 * 14! 1,200
29| 250,0008 * 122 3,000
ST 1,000,0002! * 14! 1,000
405 XHHE S| 7,000
01 AU SEH S| 7,000
OJXNMLSSEE 2 7,000,0008 * 14! 7,000
NEREEL 152,352
301 YEHH AR 145,352
11020 - 2S2S242 145,352
CLIERIEEEREY 77,000
oS40 45,000,008 * 1% 45,000
o2 M4 32,000,008 * 1% 32,000
OAE4o 14,800
oYUBtE AT 2,000,0002 * 14! 2,000
SEEENE 2,000,0002 * 14! 2,000
oRNWELY 6,000,0002! * 14! 6,000
cgpay 4,800,0002! * 14! 4,800
o==| 5,000,0002! * 14! 5,000
GEET 8,052
o203 77,000,0002 * 4.5% 3,465
cRALEE 77.000,00080 * 2.8% 2,172
cRIIQUALE R 2,172,0002 * 6.55% 143
cnNgHE 77,000,0002 * 1.95% 1,502
olTEER 77,000,0002 * 1% 770
oYz 5,000,0002 * 22 10,000
ogea| 15,000
cspeay| 2,000,002 * 14! 2,000
o® A& 4,000,0002! * 141 4,000
SEEFST| 4,000,0002! * 141 4,000
oS AX| 2| 800,0002! * 14! 800
cEMEETY 3,000,0002 * 14! 3,000
o Tl =H| 1,200,000 * 14 1,200
Otz 14,500
oAl 6,000,002 * 14! 6,000
o 2AlH| 1,200,00080 * 14! 1,200
o 29| 150,0002 * 128 1,800
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42 2BEHEX SN HSEAED
FH: HMSIE(2SL22/M=)
 HEHSSA EER-E
DA FHE O (BIH) - HRAY - HES 0l & e Hlm= 2
SR E=] 350,000& * 63l 2,100
oE3R23 200,000& = 12& 2,400
CMEEZ 1,000,000& = 14 1,000
OadE 3l 1,000,000& = 14 1,000
405 RHebFE S HI 7,000 5,000 2,000
01 At =S HSH| 7,000 5,000 2,000
OJIXM & 2s&dl & 7,000,000& * 14 7,000
4E SUHS2H2E 19,062 18,341 721
101 212 d| 13,062 12,341 721
04 JIZtH22XHSE+ 13,062 12,341 721
Ozelel 12,687
=Jl=g 44 2003 » 19H * 230 10,166
oFF Y 44,2003 + 19 » 46 2,034
cHXtY 44,2003 + 19 » 11 487
OE === 375
c1ESH 12,687,000& * 1.95% 248
oMEH 12,687,000& * 1% 127
201 B2 | 6,000 6,000 0
02 E=2gHl 6,000 6,000 0
O332= & AMA 5,000
oMIIRZE,HEHl S 5,000,000 * 14 5,000
OAMEZHISXHI(BEEEZZE)
1,000,000& * 14 1,000
dEN=Ss4H 2234 6,000 5,580 420
202 044l 5,000 3,780 1,220
01 =LHO B 5,000 3,780 1,220
ON=8d gf=d 1,000,000& * 59 5,000
203 2 F =&l 1,000 1,800 A 800
03 Al =X A2 =&Y 1,000 1,800 AB800
OFZHMssd H2FA 1,000,000& * 14 1,000
FHSHALXIA 811,500 314,000 497,500
307 gI2tol A 811,500 314,000 497,500
04 QUILHAIE X 811,500 314,000 497,500
Od=2E2Ua XA 353,000
o MMM E It 13,000,000& * 14l 13,000
oXMIEHE X & 10,000,000& * 14 10,000
oXM=RN2 F2US(3H)
270,000,000& = 14 270,000
cAIFIId=gUHZEUE
40,000,000 = 14 40,000
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A= 2FES=EXZ FAMHsE2EL
A HSIE (2L 2E/HS)
SENELY EER-E
A BB ER(E) - HRAY - B S O] &k o8 e =2
oc|E0FRHUa &It 5,000,000& * 14l 5,000
oAE M= XA
15,000,000& * 1A 15,000
OEAZUS XA 373,000
oM21al ZEAMOtetEUE
8,000,000& = 14l 8,000
oHA7T EMEEIILY EAL2UE X
280,000,000& * 14 280,000
oHRATAENMMEI 25,000,000& » 14 25,000
oG OIMA™ SHEHA ZHl  25,000,0008 * 14 25,000
=JIEt S 203 XA 35,000,000& * 14 35,000
OANAZUE XA 65,500
o M178l +=JHUZ I |IHZ
2,500,000 » 14 2,500
oM 178l OrRE &I
8,000,000& = 14 8,000
o M53l AEII =202l 5,000,000& * 14 5,000
o HM53l AMZEIISAMHE  10,000,0003 * 14 10,000
o M43l MBI BHAZUS
10,000,000& * 14 10,000
c2012sHAESeRIO 15,000,000& = 14 15,000
S J|EtAI R 203 15,000,000& = 14 15,000
OS XA CHE| & Ot 20,000
oHM133 =,5 sS4 & 5,000,000 * 14l 5,000
o M133 =3l 5,000,000& = 14 5,000
o M6l =2 Uz 2,000,000& » 14 2,000
= HM18s 2= g 2,000,000& * 14l 2,000
o M173 EHAZHS 2,000,000& * 14l 2,000
o M183 HE3 1,500,000& = 14 1,500
o M243 =03l 1,500,000& » 14 1,500
oL ATXIAN SCIEE S
1,000,000& * 14 1,000
=H&A X F& 20,000 0 20,000
201 2Bre | 20,000 0 20,000
03 At2 G| 20,000 0 20,000
OLE =HEA N 20,000,000& = 14 20,000
2015 8= HM&E =l 120,000 0 120,000
201 et A | 20,000 0 20,000
01 AL222/H 20,000 0 20,000
OdZ A& &I 20,000,000& 14 20,000
401 A& HIZ 20| 100,000 0 100,000
01 Al£HI 99,000 0 99,000
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- = = HE
A B9 (30) - NRAY - BES il b o HlmE 2
HI S8 ALK 2 564,500 324,200 240,300

DI2H0| & 564,500 324,200 240,300
SEIET=ES 564,500 324,200 240,300
OHZARHEIX 329,000
© X243 4oHHH & R EILIATH2)
11,000,000 * 141 11,000
oX118 RNELRHE
15,000,000 * 141 15,000
o RI8E ZEHHHRHHSOIEI 03]
18,000,000 * 141 18,000
cHRRAUETRYS
150,000,000 * 14 150,000
oHI108 HRYE22te 3l
35,000,000 * 14! 35,000
oRl128l B ELUHCHE = O}l
5,000,000 * 14| 5,000
oHI208l SOIME TS0 3
50,000,000 * 14| 50,000
oN3E RSMHASIT MRAAADY
tH 3l 10,000,002 * 141 10,000
SHI13E ABEHBIIMSHS LACELHS
5,000,0008 * 14! 5,000
<OIEt HIRZHEN
30,000,000 * 14| 30,000
OEA2sIXI 2 31,500
o X158l BHCH3 2,500,000 * 14| 2,500
oH198 MEHMEME 1,000,008 « 14 1,000
o X138 E20H3 3,500,008 * 14| 3,500
oXl138 BIESIEITHE 1,500,008 * 14 1,500
o X133 M2i22+0lY 03]
2,000,002 * 14] 2,000
oXi238 NOIESCHE 2,500,008 * 14 2,500
o Rl243l WSS 1,000,000 * 141 1,000
S AEREEE 2,500,008 * 14 2,500
o Hl128 EILIAHS 2,500,008 * 141 2,500
o Rl43] OFRTHE 1,500,000 * 141 1,500
oXl48l HICHSOHE 1,000,008 * 14 1,000
oHI3sl A3 1,500,000 * 141 1,500
oX2sl XENHS 1,500,000 * 141 1,500
oIlEt ER20H3 7,000,000 * 141 7,000
ONRDH5I X2 50,000
S X3S Y SN MEH S Y3
50,000,000 * 141 50,000
O 042! 43l X & 50,000
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0z N>
J2

Zesi=x= SM  HMSEAED
SUS(2L22/HF)
Y EE Y

Al ‘:’A—I X XH C} |(:|);”) A-”‘:‘ |.O'| HAXZ 0;“/\|»0H @Lj_l‘:_ =2}
= - T2 - = LS &= O] AFOH S o
o Hbs LATHOMCIAMFUS
20,000,000& * 14 20,000
oH102 LEHMHUANMILLEEFUS
10,000,000& = 14 10,000
o J|EtE O QI TH 3 20,000,000& * 14 20,000
OJIEtHE A& 104,000
c2012ZAEHEAMMENSHE
12,000,000& = 14 12,000
o M08 ZEHICIOIHEHE]
45,000,000 * 14 45,000
oMIAARNEANU 2 20,000,000& * 14 20,000
ocEERXSEAEZUSEIL
5,000,000& = 14 5,000
oZZFHOIESWIIEIL  2,000,000& * 14 2,000
oJ|E Thal K& 20,000,000& * 14 20,000
2M=s 2SN 336,540 6,900 329,640
J| 181,206
= 3,881
Al 151,453
307 @12+0l & 336,540 6,900 329,640
| 181,206
= 3,881
Al 151,453
02 QI2tFAME X 336,540 6,900 329,640
OMetxss 2I X 6,900,000 = 14] 6,900
| 3,450
Al 3,450
OMENF KX T At X 176,640,000& * 14 176,640
| 88,320
Al 88,320
oozd dN=sgs NTXt Xl
88,320,000& * 14 88,320
| 44,160
Al 44,160
OAEZ= HIRHM AMEAS  64,680,0003 * 14] 64,680
| 45,276
= 3,881
Al 15,523
MEHEssHd 2F 3| 10,000 6,000 4,000
202 44| 9,000 6,000 3,000
01 SLHA b 9,000 6,000 3,000
OAZRIIEY BBARER
3,000,000& = 39 9,000
203 AR =&l 1,000 0 1,000
03 Al =X 2| 1,000 0 1,000
OAEZ=0HHE dRFH 1,000,000 » 14 1,000
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™ [0

Ho Olow o
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SR BB OS(5) - NRAY - BAS Aro CEE Hlm= 2
Oil &k o8
2013 QI &t X = O 3l = bl 8,000 0 8,000
201 B2 HH| 8,000 0 8,000
01 AR 2teld| 8,000 0 8,000
O3 =l 8,000,000 = 14! 8,000
MSIIEAIE =S 1,274,137 2,238,168 A 964,031
& 60,000
Al 1,214,137
A=E2sE 4 81,000 0 81,000
401 AIEHIZ 2 0HYI 81,000 0 81,000
01 A& HI 80,000 0 80,000
OAl &l 80,000
oA AIHERIDN AAHES
30,000,000& * 14 30,000
ocRSTA=RN = 50,000,000& * 14 50,000
03 AI& R 0HHI 1,000 0 1,000
OA &S UHI 1,000,000& * 14 1,000
HEHRsHEH HE 518,857 1,100,000 Ab581,143
101 el24d| 31,510 0 31,510
04 JI12HHZ22NSES 31,510 0 31,510
OJIAHA RN 17,712
ollzg 62,8003 » 1& » 210 13,188
oFgg 62,8003 * 19 » 34 2,136
oAXtY 62,800& » 18 * 84 503
o A2t =g
11,7803 * 1H » 20Al12t ~ 83 1,885
OAx=ERES 701
clEEEZ 17,712,000& * 1.95% 346
ocHNHEE = 17,712,000& * 2% 355
OFL02Y 12,466
oJlzg 44 2003 » 18 » 210 9,282
oFsxg 44 2003 * 18 » 34 1,503
oAXtY 44,2008 + 1H » 8 354
oAZtla=Y 8,200 » 1H * 20AI2t = 83 1,327
OLERES 631
clEEEZ 12,466,000& * 1.95% 244
oMIHEE = 12,466,000& * 3.1% 387
201 L Et2FH| 107,410 0 107,410
01 AR 2teld] 16,800 0 16,800
OASR2telhl 16,800
ocHAEZ Y 40,000& » 108 = 123l 4,800
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SN - B E9(B1) - MTAY - BAS S HIRE
ol &t o
cSEALRETY (ME) BEAS)
500,000& » 8& 4,000
o Jj 2t A F | 8,000,000& = 14] 8,000
02 2224l 90,610 0 90,610
O332ZHl 90,610
oAMIIT=EAIER 10,000,000& = 14 10,000
ocXMIIR3 50,000,000& * 14 50,000
cEFMNHRE S 2,000,000& * 23| 4,000
cCNERLRFES 1,000,000& = 13 1,000
SHEAL AR EE
4,000,000& = 13| 4,000
cAUSBRURAL4E
1,500,000& * 13 1,500
o ROIZHIANAHEESAZ 250,000& » 8& 2,000
CcHEINHAABRNBALE
4,000,000& = 13| 4,000
ozl RAE+=E89R 100,000& = 8& 800
o5&l BIlEAI=E 100,000& * 13 100
oA dotME 3| 100,000& * 13 100
ocREUSMZ 40,0003 ~ 8& 320
SPSPIPNE=] 3,000,000& * 14 3,000
ocFR2USAAE RXH| 2,000,000& * 14 2,000
ocHAUHZBEAE RANES 1,800,000& * 5% 90
SI|IAHEHISAE 4,000,000& = 14 4,000
o2 Y AELHHIRANES
1,000,000& * 14 1,000
oAYUEHIRAE S 1,500,000& * 14 1,500
oA EBI|HLH &8s ¢
500,000& * 23| 1,000
o OtMZE|At =SS 200,000& * 13| 200
401 AlEHIZL 2 0HYI 346,900 1,100,000 AT753,100
01 Al &l 345,400 1,100,000 AT754,600
OAl &l 345,400
oBI|HSII(HLHI]) 70,600,0002 * 44 282,400
ocZofelAE ALlHIOIEHAX
55,000,000& = 1CH 55,000
oK HAZE HILMHEAX
8,000,000& = 14] 8,000
03 AI& 201l 1,500 0 1,500
OA&=20HH] 1,500,000& * 14 1,500
405 KHaHFE S| 33,037 0 33,037
01 AL =S FSHI 33,037 0 33,037
OXAF SHI(MRALHA HIXIE) 33,037
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224 B O(3) - MRAY - BAS e S[nE=E
of &t o
o3I A 302,000 * 8IH 2,416
CUBEHA (AR 4f4)
380,000& * 8IH 3,040
SEP\; 179,000 * 269H 4,654
o AFZHIOIE 321,000 * 44 1,284
oM& 180,000 * 8IH 1,440
oE AL 1,320,000& = 5CH 6,600
o EolA HIE(LYN) 187,000& * 169H 2,992
oHiECIH &HI|I7 200,000& * 12HH 2,400
CIIEI2S ME(HATMEHSIHONES)
2,100,000& * 14 2,100
4018 SXHEHA) 873,000& * 7H 6,111
AUEHAAHOEEES 30,000 0 30,000
401 Al HIZL 2 0HYI 30,000 0 30,000
01 Al &l 30,000 0 30,000
OAl &l 30,000
cXsE=+ 30,000,000& = 14 30,000
SHEEX MEAIER2Y 82,280 65,000 17,280
201 B2 FH| 52,280 35,000 17,280
01 At 2teldl 35,000 35,000 0
OASR2telHl 35,000
ocHSAEH ESRIAMSE(BEX)
30,000,000& = 13 30,000
SANERX 2 40E 7
500,000& * 103l 5,000
2 ZReA) 17,280 0 17,280
OzzeYH (=T F4E ZY ©IIR3)
160,000& * QIHA * 123 17,280
401 A& HIZ 201 30,000 30,000 0
01 A& HI 30,000 30,000 0
OAlI&HI 30,000
oxMEAE RAES 6,000,000& * 502 30,000
SHSHSAE 41 L B 402,000 820,000 A418,000
401 Al HIZ 20 402,000 820,000 A 418,000
01 Al & Hl 400,000 820,000 A 420,000
OAl&HI 400,000
CHOIEEE AXZTCIEX(4H)
200,000,000& = 14 200,000
odla4xl 100,000,000& * 14 100,000
oRXES L EI 100,000,000& * 14 100,000
03 A€ =01 2,000 0 2,000
OA&SFUHI 2,000,000& * 14 2,000
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AR EWE eI ET-PNE
YA HSUS(SILBB/HK)
Sl HSIIPAILEE (e @
- _ _ Muo
A= 2N -SA(SH) - NRAY - BE=Z Ol &+ 9K Ofl At ot HwsZ
USE0IE 29 36,000 0 36,000
402 QI2H X+ 0| 36,000 0 36,000
01 PIARZERE 36,000 0 36,000
ORMHSH (OINHY SSEHI)
36,000,0008 * 14! 36,000
MSIIBAESE 252 4,000 3,168 832
202 01t 3,000 2,268 732
NETLL 3,000 2,268 732
OMSANE 2= 1,000,008 * 3% 3,000
203 R = H| 1,000 900 100
03 Al ERY R =X Y| 1,000 900 100
OMSIIBAILSE YR
1,000,002 * 14! 1,000
HOIESH & 120,000 0 120,000
= 60,000
Al 60,000
401 Al EHIL 20| 120,000 0 120,000
= 60,000
Al 60,000
01 Al bl 119,000 0 119,000
OHolESH Hx| 119,000,00021 * 14} 119,000
= 59,500
Al 59,500
03 Al& S CHH| 1,000 0 1,000
OA &SI 1,000,008 * 14! 1,000
= 500
Al 500
HAd P95 U KA/l HA) 1,004,970 898,717 106,253
| 199,872
= 16,200
Al 788,898
=PNEEYS 1,004,970 898,717 106,253
| 199,872
= 16,200
Al 788,898
HAW NEES 100,190 31,310 68,880
201 Ypt2 bl 5,890 2,810 3,080
01 ALR 2l 5,890 2,810 3,080
OArR 22/t 960
cHAEZUZUD 80,0008 + 128 960
SEET 1,700
CHAERMHY AT A]
1,000,008 * 14! 1,000
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0z N>
J2

20
B
2

cEEZHE 700,0008 * 13] 700
oYtz 150
CHAHSHIN RS ENAYXE
150,0008 * 14! 150
Oslesi+g 2 3029 3,080
oHAUAAS| 30 +Y
70,0008 * 19 23] 1,540
oCYS-NET 28 ol3| 81o/4+Y
70,0008 * 118 « 23| 1,540
301 YerE At 1,000 0 1,000
10 BAIAH 242 1,000 0 1,000
OFAHHAXIA (HALSAT )
1,000,0008 * 14! 1,000
307 812+0| A 93,300 28,500 64.800
02 QI2HAEE 50,000 28,500 21,500
OXNYHAE MESAY K&
30,000,0008 * 14! 30,000
OFAUBLWSANE  20,000,0008 * 14! 20,000
03 ABIEFH 2 ES 43,300 0 43,300
OMIISHEZ2X & 43,300,000% * 14! 43,300
YauLps 2o 343,972 254, 180 89,792
101 @124t 87,820 70,828 16,992
04 D12 H2ENS S 87,820 70,828 16,992
OsgRxE 24,968
°J|23 37,6008 * 28 * 230 17,296
oFELY 37,6008 * 2% * 462 3,460
oo xta g 37,6008 * 2% » 112 828
o AIRtel 4 g
7,0508 * 20A12F « 2% « 12 3,384
O Haele 14,677
=23 44,2008 * 1% » 230 10,166
oFELY 44,2002 = 1% * 462 2,034
oQiRta g 44,2002 * 1% * 112 487
o AlRtel &g 8,2908 * 20AI2t * 128 1,990
onzRu3 742
cngwse 14,677,0002 * 1.95% 287
olHEE 2 14,677,008 * 3.1% 455
OFAEX S A 42,264
°Jl23 1,620,008 * 2% « 12 38,880
o AlRtel &g
7.0508 * 20AI2t * 2% « 128 3,384
OAZLLYS(HAEXTA 1,248
cngREE 42,264,0002 * 1.95% 825
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02 BIHAMBE 117,000 117,000 0
OFAWE SLPHUE HX 2%
117,000,00021 * 14} 117,000
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HIRAS D 2G9N 25,000 23,000 2,000
= 11,000
Al 14,000
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= 11,000
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Al 30, 132
307 212H0| & 60,264 60,264 0
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Al 30, 132
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OFAW SEX Z278 2% X
60,264,008 * 14! 60,264
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Al 30, 132
SDHAELBALTR2]Y 29 8,000 8,360 360
| 4,000
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201 YEr2 A H| 8,000 8,360 360
| 4,000
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OBTHAY AL Z2IY 29
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Al 19,440
BAUEAE 29338 & 4,000 4,000 0
Il 2,000
Al 2,000
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Al 2,000
dadsd 2834l 5,000 3,780 1,220
202 ¢4 4| 5,000 3,780 1,220
01 =2 A bl 5,000 3,780 1,220
OFAE YR 1,000,000& * 5H 5,000
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Al 9,000
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OdesEHE 29 30,000,000& = 14! 30,000
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N = 0l & At 3 AN A
43 pEey=N2 S DEHHDY
B CAN DEUH XN (+ELDE/WEDE - SRSIIE)
D nSAld2e el d
~ - dEE =
it 18,220,064 16,618,728 1,601,336
= 100,000
& 325,000
Al 17,795,064
A nEtid FA(+E5LWS/HERS - EFRSIIE) 500,000 0 500,000
SA& 2t 500,000 0 500,000
N M(EEA 500,000 0 500,000
401 Al EHIZ 2O Y| 500,000 0 500,000
01 Al€Hl 495,000 0 495,000
OsE XM 495,000,000 * 14 495,000
03 A& 20| 5,000 0 5,000
OAIE 20l 5,000,000& = 14 5,000
Ed WsEd PF(+3XWES/UHBUS - ERSV 17,205,100 16,130,570 1,074,530
= 100,000
= 325,000
Al 16,780,100
SuSAMY 435t 17,205,100 16,130,570 1,074,530
= 100,000
< 325,000
Al 16,780, 100
MEENSIHRIIHEES X 14,000,000 13,000,000 1,000,000
307 21Ztol 14,000,000 13,000,000 1,000,000
09 2+HHELS 14,000,000 13,000,000 1,000,000
OMEEXSIHHA EHAlLSE)RNEEXZ X
& 14,000,000,000& * 14 14,000,000
AMUHA 2SAHE HE X 1,476,000 1,476,000 0
= 265,000
Al 1,211,000
307 21Ztol ™ 1,476,000 1,476,000 0
= 265,000
Al 1,211,000
09 2+HAHEXS 1,476,000 1,476,000 0
OAUHA His=ded THEXA(2H)
1,400,000,000& * 14 1,400,000
< 250,000
Al 1,150,000
OdElLd 28 =B (EH)
76,000,000 * 14 76,000
& 15,000
Al 61,000
MEISHXEAE 23 4,500 4,500 0
307 I2t01 A 4,500 4,500 0
03 AtIEHHEXS 4,500 4,500 0
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OAEIEH X2 4,500,008 * 14! 4,500
DEIC NBXE 1,401,600 1,241,600 160,000
202 01t 1,600 1,600 0
01 2Uh0i 4] 1,600 1,600 0
OREISETYL oft|
100,009 * 2% 82 1,600
307 2120 1,400,000 1,240,000 160,000
09 24AANRES 1,400,000 1,240,000 160,000
OLSHER Y 228z MY
1,400,000,0008 * 14! 1,400,000
HAH AT 2 300,000 300,000 0
2 100,000
= 60,000
Al 140,000
307 2120l 300,000 300,000 0
2 100,000
= 60,000
Al 140,000
09 24HHBES 300,000 300,000 0
OMMHAZAX R 150,000,008 * 2CH 300,000
2 100,000
= 60,000
Al 140,000
DEBOIZH 13,000 93,000 80,000
201 YEr2 Y| 2,500 2,500 0
01 A2 22l 2,500 2,500 0
ONSHIALEX Ysr4gH|
2,500,000 * 14! 2,500
202 01t 10,500 10,500 0
01 2UH0iH| 10,500 10,500 0
OREAREX 0l 150,008 * 7% * 103l 10,500
HEDS AFNHIA A 10,000 0 10,000
201 YEr2 Y| 10,000 0 10,000
01 A2 22l 10,000 0 10,000
OUEDE(HA GA) 24LBAMX FEDT Y
At 10,000,0002 * 14} 10,000
HHSYZH (DSHI M) (JIEH/IIE) 13,680 3,680 0
=) 13,680 13,680 0
o= 2l 13,680 13,680 0
201 YEr2 Y| 6,200 6,200 0
01 AR 22l 6,200 6,200 0
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Oget=gH| 6,200
cHIANRESH 200,000& = 123 2,400
SARINAZEF 250,000& = 122 3,000
o J|Et==EH| 800,000& * 14 800

202 (44| 2,800 2,800 0

01 =2 A bl 2,800 2,800 0
OJl=gs +=&0d 2,800,000& * 14 2,800

203 H R =&l 4,680 4,680 0

04 REAN2IEHRFA 4,680 4,680 0
ORN=2SHRF 390,000& = 12& 4,680

RS (NSHEW)(>SLUE/HELS - 23 SIIE) 501,284 474,478 26,806

LHEHCHXIE 501,284 474,478 26,806

HEHHKIE 501,284 474,478 26,806

701 JIEtSIHNES 501,284 474,478 26,806

01 JIEtSIHE &2 501,284 474,478 26,806
OEAMAH=EAN BE= 5,012,838,460& * 10% 501,284
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= AH O
N = 0 &8 AF S & Al A
A2 A== SN HRIFETAZTIG
M UECUQN S4 (2L 2Z/25HM)
EP: AZSCQH BEE - 24 (oA
- _ _ bSRE Y=
A= .25 - F3H .S () - MBAIY - BES 0] AFCH @;OH Hns
HRRIABRITAFIS 7,280,692 3,824,834 3,455,858
z 2,530,000
< 931,000
Al 3,819,692
LAEHUH L (2L 22 /25 M) 4,264,190 2,005,734 2,258,456
2 1,080,000
== 426,000
Al 2,758,190
ECUQH BE& - 4 3,833,340 1,610,758 2,222,582
= 1,080,000
< 426,000
Al 2,327,340
AESLH ALK 1,107,840 1,133,758 A25,918
101 @121 H| 3,000 0 3,000
04 JIZtHI22XsE% 3,000 0 3,000
OUAEE KA 212
3,000,000 » 14! 3,000
201 L Bt2HH| 306,840 335,758 N28,918
01 AF22t2l | 26,040 26,040 0
OogetgH| 26,040
CAANTIUHEHAHLELEZ
4,000,000 * 13l 4,000
oUASLHNEMAN EEE S5 HEH
100,000& * 103 1,000
ott22%} D IHAE 8,0002 = 25004 2,000
oM ALE 22X =AY
7,000& * 8 * 241 x 170Y 19,040
02 2=229H| 3,800 3,800 0
Oz222 ¢ HMA 3,800
oil - ol AIEE 800,000 * 14! 800
o ELLHE 200,000& x 55 * 23] 2,000
oHQANEZE MIIRB 1,000,000& * 14 1,000
03 HAI2HHI 277,000 305,918 A28,918
OHsE=Es M 30,000,000 » 14! 30,000
OHE 28, X% 2 29Xt
80,000,000& » 14! 80,000
OHIE & HIEAlE 2R 40,000,0002 = 14! 40,000
O0lsatEA ARt 500,0002 * 8= * 8L 32,000
OS#ALE HICSA oI XF Xt
10,000,000 * 14! 10,000
OHHE AXt 20,000,000 » 14l 20,000
O#ALE HHH LXt 3,000,000 » 14l 3,000
OZAdHold & xt 600,000& * 55 3,000
O2 X, HIE, &8l Xt 5,000,000 = 14! 5,000
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432 BE2s=x2 SN HQSAERTAENG

Y BECUH SH(2SL2AF/25)

9 ASCLRR FE - 54 CLRE
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= 04|/\}0H In_-lln“j_“:_ H|j§3k
= == T2 ° TNs (S &= 04| AFOH U=sa

Ootgs Xt 4,000,000 * 14 4,000
OLED™ & & Xt 20,000,000& * 14 20,000
Ot2H E20HAHE 30,000,000& * 14 30,000
301 BB AZ 63,000 63,000 0
10 HAtAHIE &= 63,000 63,000 0
OS88s UM I8
3,000,000 * 218HS 63,000
307 2120 & 600,000 600,000 0
04 DIZHHALE = 600,000 600,000 0
OLEHLH At 600,000,000& * 14 600,000
401 AlEHIZL 2 0HYI 135,000 135,000 0
01 Al &l 135,000 135,000 0
OH2% ot HHE &b 10,000,000& * 14 10,000
Ot2H dt=7 &l 10,000,000 * 14 10,000
OFEAANE 2 EHl L E=
20,000,000& * 14 20,000
Ostel&x ¢ ax 15,000,000 * 14 15,000
OHFItW &x1 L Al
20,000,000& * 14 20,000
O&MIISHANE &X 20,000,000& * 14 20,000
OHFHAE =& 44X 10,000,000 * 14 10,000
OWEZE, Ul &l 5,000,000 = 14] 5,000
OAME =HEHHI 5,000,000& » 14 5,000
OJIEH HALE A& EHI 20,000,000& * 14 20,000
LAEHH MSKE 40,000 40,000 0
307 212+0l & 40,000 40,000 0
02 QItFAE X 40,000 40,000 0
OLEHLH dss4 AtY
40,000,000 = 14] 40,000
2ECH JI=EF M 27,500 7,000 20,500
201 LBH2IH| 27,500 7,000 20,500
02 3329l 27,500 7,000 20,500
OUQEEEE &yl Y ATEY0 SNPS
27,500,000& * 14 27,500
ZEHN BE - SAAMY 298| 8,000 9,800 A 1,800
202 0dl 6,000 9,800 A 3,800
01 =2LHOHI 6,000 9,800 A 3,800
OZEHLN EEsH 29|
6,000,000& * 14 6,000
203 PR F2Alh| 2,000 0 2,000
03 Al =X HFFXH| 2,000 0 2,000
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SITAIIE AR= 29
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RHHPHSICTAEE 29 2,500,000 270,200 2,229,800
= 1,080,000
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£013 2,500,000 200,000 2,300,000
O | HPHES ST EX P25 X &
2,500,000,0008 * 144 2,500,000
= 1,080,000
= 426,000
Al 994,000
2 430,850 394,976 35,874
2 2y 430,850 394,976 35,874
69,550 64,976 4,574
04 JAR2ENS2 4 69,550 64,976 4,574
SRS o2 (HI) 26,854
oll23 79,0008 * 1% « 230 18, 170
oFEHY 79,0008 * 1% « 462 3,634
o4 g 79,0008 * 1% « 112 869
SRR 79,0009 * 1% * 402 3,160
cNE - MWEEE
79,0002 * 3272 * 3.95% 1,021
Ogessipey oleel(J1H) 21,348
oJl23 62,8009 * 1% * 230 14,444
oFEHY 62,800 * 1% * 462 2,889
o Rpa g 62,800 * 12 + 112 691
o Al2tel g 62,8002 * 1% * 402 2,512
cNg - MEEE
62,8002 * 3272 * 3.95% 812
Ogeesipey oL (S3) 21,348
SPIEE 62,8002 * 1% * 230 14,444
oFELY 62,8002 * 1% * 462 2,889
oo RIS 62,8002 * 1% + 112 691
o Al2telag 62,8002 * 1% * 402 2,512
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A2 BE2s=X2 SN HRRHBICAENC
Hal: YSCHOR S8(2U2Y/23HH)
el Y2HRREHE 29 (B9 &2
- _ _ Muo
A 2N Y SHR(B) - MBAY - BES Ofl & o il i~ o HRs2
c24+zde Mgt 1,000,000 * 42 4,000
cwdI| Ryl 180,0008 * 122 2,160
OAEEHI S| 24,810
SEEE M 500,0008 * 122 6,000
o ZHI KX 500,0008 * 122 6,000
owead| M2 HHl 5,810,002 * 14 5,810
oZX)| ZEH n# 3,000,008 * 14 3,000
SHEAM FARY X 2yl
2,000,0008 * 14! 2,000
SHAANL Y AWAE BT 2L
2,000,0008 * 141 2,000
03 # A2t 47,000 47,000 0
OJl&8lZ 222 M 1,008 * 5,000% 5,000
OJI=Be ERES R
10,0008 * 2% * 103 2,000
OBUAE & S0&H 10,000,000 * 43] 40,000
301 LB A 66,000 51,200 14,800
10 SAMAHI R A S 66,000 51,200 14,800
OJl8l A8 BoE P4
40,000,0008 * 14! 40,000
OFESSMA LA B4 8,000,000 * 14! 8,000
ONAEA, BESS AS B4
8,000,0008 * 14! 8,000
OHQ2E=x Ha T2 OYAA S
10,0008 * 2% * 503 10,000
307 RI2+0| & 10,000 10,000 0
02 St PABE 10,000 10,000 0
OHeesi2 29 BX 10,000,000 * 14! 10,000
401 A2 HIL ST 78,000 70,000 8,000
01 Al bl 78,000 70,000 8,000
OHR2aa SALY F|
30,000,0008 * 14! 30,000
OH22s 2 2&5 XSBA
18,000,008 * 14! 18,000
OHR232 MAIS 2ELHIFH|
30,000,008 * 14! 30,000
405 Xt &HF S HI 4,500 0 4,500
01 XA U SEF S| 4,500 0 4,500
OMNRE=AI 22 4,500,000 * 1CH 4,500
ANOIEUERSH (2L /2L 250,000 0 250,000
3 100,000
= 100,000
Al 50,000
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a3 pEes=RR SN HRRNEECASAG
Hu: AQIBUHERSA(2IUBY/SHUBBU)
Chel: 2s0l MAI 2E - R4 (=CRE
- _ _ Muo
AR .2 FH . H(3H) - HRAY - B Ofl AF o4 Sl ko HRs2
2=0| dAF EE - |4 250,000 0 250,000
= 100,000
= 100,000
Al 50,000
Z=0] HALKE 250,000 0 250,000
= 100,000
= 100,000
Al 50,000
201 QEr2gy| 59,000 0 59,000
& 23,600
& 23,600
Al 1,800
03 & A2 2t 59,000 0 59,000
OY=0l #AIZY LT S
30,000,000& * 14 30,000
= 12,000
& 12,000
Al 6,000
OZ=0l A EE 29,000,000& = 14 29,000
& 11,600
& 11,600
Al 5,800
301 et Az 21,000 0 21,000
& 8,400
= 8,400
Al 4,200
10 HAAHIE A= 21,000 0 21,000
OZs0l #AF AT
1,000,000& » 2180 = 21,000
= 8,400
& 8,400
Al 4,200
307 2I2tol A 170,000 0 170,000
= 68,000
& 68,000
Al 34,000
04 QIZ2tHALE = 170,000 0 170,000
OZ=0] At 170,000,000& » 14 170,000
& 68,000
& 68,000
Al 34,000
AANZS AR 2RI F (2oL 22/ 2) 2,752,002 1,804,600 947,402
& 1,350,000
= 405,000
Al 997,002
ZOHNEI = HREA 2ECSD] 2,752,002 1,804,600 947,402
= 1,350,000
= 405,000
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A 2AFEI=ERXN= FA  HESIEITAIFAH

M AANSSAAAZIEEF (2L 22 /2)

He: HOHNSI = SHREA 23S (ctel &
AR 2B . (3H) - MBEAY - BA2 AbO dEE H =2
== ° T R B i o ) ° T NS oS =5 &= 04| AFOH U=sa

Al 997,002
ZOHAZEI)= HET A 2EUSD] 2,700,000 1,800,000 900,000
& 1,350,000
& 405,000
Al 945,000
401 Al HIZ 2T 2,700,000 1,735,000 965,000
= 1,350,000
= 405,000
Al 945,000
01 Al &I 2,590,000 1,730,450 859,550
OHESe|Hel - Al
2,090,000,000& * 14 2,090,000
= 1,295,000
& 388,500
Al 406,500
OHREF o H2IZ=H AFEHI('1TAIHI0I R E)
500,000,000& * 14 500,000
02 22|yl 100,000 0 100,000
OHESte|Hel 2L A 2eldl
100,000,000& * 14 100,000
= 50,000
= 15,000
Al 35,000
03 AI& 201l 10,000 4,550 5,450
OHES2AHelx2H AERUYI
10,000,000& * 14 10,000
= 5,000
& 1,500
Al 3,500
LEHLLESAIES AR 2] 2,800 2,800 0
201 L2 H| 2,800 2,800 0
02 332l 2,800 2,800 0
ONSAIE RoFH < 150,000& * 12& 1,800
OXSAIE 22l= Xl 500,000& * 23| 1,000
ZdO0A Ell= HE Al AECSIIAME2IF | 1,800 1,800 0
202 44l 1,800 1,800 0
01 =LHO B 1,800 1,800 0
OZHNEI = U2 Al 2EUSI| A2
= Nall 1,800,000& * 14 1,800
=s25n2t e Y 29 47,402 0 47,402
101 2124 d| 11,074 0 11,074
4 D12t 22 RS2+ 11,074 0 11,074
O=sesEIey ool 11,074
=JlE=z 37,600& = 1% = 230 8,648
oFFY 37,6003 = 1H = 46¢! 1,730
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